normalized X?

[ normalized x? probability |

chi2 chi2_prob
N Entries| 15067 0.035 T . Entries 15067
= M 0.9787 . . M 0.5506
10 Slzagev 0.6961 i . . St(;agev 0.3128
- .CIHZ - 003 o :l e .
102k Entries 0 . i 0
E St ey 0 0.025 - [SiBer o
1073k 0.02
g 0.015
10°F
0.01F
10°F F
E 0.005F -
o 0761- ° Q: i Ll jaa 1 i i 1
& &
0.5 05F--+
OO 2 4 6 8 10 12 14 16 18 20 CO 010203040506070809 1
X? Prob(x?)
= b5
8 E
""""""""""""""""""" A 4
A -
...................................... a 3 H
o 2
""" o °H
1.2 | m==—=DQM_V0001_R000000001__Global__mkFitbase_ RECO

{ === DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

Ratio

< x2/ ndf >

Ratio

. : :
107 10 10? pw3
T

<dpp. > (%)

Ratio

10 10%

]
w
T O T

Ratio

0 1 2
TP n (PCA to beamline)

3

< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

1072

-1
AR(track, jeltS)



	Contents
	Page 1


